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Introduction
1/20 x x=1.5%
But Father, we have Chemistry! Yes, my son, but something x=30%
things with Chemistry can blow up. TE=3.139 x 30%=94227.7=1/106=1/V
We will assume a group of f 20 people that we want to have TE=94247.7 x 1/5/2=0.666=G
Chemistry amongst and between. This figure 20 will be worked
out below. Jungian Personality Type frequency
{20 choose 19} +{19 choose 18}....etc. Top 4 =13.8%+12.3%+11.6%+8.8%=46.5% / 4 types=106.0
=20!=24329X 1018 Now, let’s look at some algebra:
0.243%-243-1=1.183957 X/2=1/x
=1/0.8486=sin 58° x%=2
There are 24=16 different personality types according to x=V2
Jungian Psychology. 1/x=1/2=0.707
If we examine only one person, we have: t?=i=R=2=y
{16 choose 4}=16!/{4!(16-4)!=1820 2/x=yx
If we examine only one relationship, we have: 2=x2y
{16 choose 8} =12870 2-F2t

12870/1820=7.07= 1/~/2/5in45° = cos 45° == P

For the sine and cosine cures, they meet when t=‘r[/4—=E=1/\/2

7.07/10 relationships=20 people Area =1/4 x (1/V2)?= 71 /8=251=Period T =AT Math
For one relationship, we have then yx=2/x
128720x 20!=3.13 ~ 7 y=2/x

2 o_ -
n~ —x—1=57.29°=1rad=E yx?=2
20!(1820)=4.427 —E%t=2

2 _ . R

0.4427%-0.4427-1=-1.246 ~ -1.25 =Emin = AT Math y/x?=v2={16 choose 4}/{16 choose 8}
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=8/4=1/2=tmin y=2/x
t?-t-1=E 2/x3(x%)=2
(1/2)%-1/2-1=-1.25=Emin = AT Math 2=2
yx*=2 True! (Figure 1)
2710
y=y' 2711
G

Figure 1: The Binominal Universe and mind.

Lety=0.666=G 0.3426%-3462-1=117.33= Mass

fy=y2/2 from 0— 0.666 1/117.33=0.852=R This is the resistance in the human

0.6662/2=1/9=1/c=t nervous system.

We know that the Voltage=105 mV

E=1/t=c?
E=c? V=iR
E=(1)c? 105=i(0.852)
PEMC? i=0.123=1/81=1/c4
32
~2(9)=18 Buti=t
TE=M(1591) t=1/c®*=1112 This is equal to the Input /Output of the brain

as black box.

TE=2 7 (1/2 7@
1/ ) {20 choose 4}=4845
=1
{20 choose 16}=4845
Since there are 20 people, there mustbe atleast 4 personalities

. s 4584 x 4584=21.01 ~ 21 The mind =221
that match. So we have 16 unique personalities at most.

({20 choose  16}=20!/{16!(20-16)!=4845  possible t=221=R21
combinations. i=t?
{20 choose 16} /x 1/v/2=3426 =(221)?
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=242 sin Bcos 6=28
V=iR divide by sin 6
105mV=i(221) cot 6=28

i=0.1958 ~ 2 0=1113=1/c*=t

LnR21=21Lnt E=c?

=21M E=Mc?

=21(1)=21 M=1

Ln R21=21 TE=M(15915)

21Lnt=21 n=M(1/2 )

Lnt=21/21=1 M=2 772

t=2.718=el =197.4 ~ 2=L

V=iR 2=% Reaction Time of the senses in the ACT* Model of the

=0.1958(221) mind.

Reaction times=200 msec=0.200sec

=3956~4

E=V=1/t=1/el=e-1=3678 M/t=2/2=1

V=iR dM/dt=1

3678=i(0.85) PE=Mc?

=4316 =(2)9=18

1/4316=231.6=t t=KE=1/2Mv*

Ln 231.6=1.15459=1/0.866=1/sin 60°=E =1/2(2)(1/V2)?
=1/2

Ln 231=3.139~Pi

E%=2 TE= PE+KE=18+1/2=185

(sin? 60°)t=2 TE=M(0.1592)

t=374=1/2.666=1/SF =AT Math M=116.2 Mass of the Periodic Table of the Elements

M+dM/dt=116.2 +1=117.2

E%t=2

M=Ln t=117.2
E?=2/t=2/374=5.333=2(SF) n

t=3.228
E=1/5.333=23.09~231

t>-t-1=E

E?t=5.333(374)=2
E=0.619 ~ Rotot of the Golden Mean 0.61

E=(1-Lnt)7
=Et si °
=(1-In 374)7 s=Et sin 60
=12.07 =(0.618(3.228)(0.866)
t=E2+E-2 =1.73=\/3=eigenvector

=12.07%+12.07-2 s=t

15575 10[M=dM/dt} x t=5710M+10=57/v/3

10M=31
Now, One Personality=24 OM=319

M=319/10=3.19 ~ freq=1
1 relationship =24 x 24=28=256 / req=1/m
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h=freq/ x E

6.626=1/m xE

E=21.09 ~ 21 =t=2.718=el
These are the human functions
Skelton +Body +Flesh + Mind+ Soul
=1+1+2+2+4

=10

10 x 20 people=200=TE
TE=M(1592)

10=M(1592)
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M=2 7 =1 cycle

20! x {16 choose 4}=

20!'x1820=88.56=c0 Permittivity

20!'x {16 choose 4}=

20! x1820=88.56=¢0 Permittivity

Capacitor /Capacitance=(1/ 77 )/88.56=359.4+360=2 77 =M
Conclusion

So, we see that “social chemistry” exists according to the law of
AT Math. An ideal group is 20 people with 16 different personality

types.
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